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1 Introduction
In R2 NR ad hoc #1801, based on email discussion (R2-1800946), R2 has reached following agreements. Follow up email discussion in [NR-AH1801#09][NR] L2 buffer size (Intel).
Agreements:

1 
UE's L2 buffer size requirement is calculated based on the maximum L2 buffer size calculated for each band combination. For each band combination the L2 buffer size is calculated based on the maximum L2 buffer size calculated for each possible BPC.

2
RAN2 will decide the RLC RTT value for each SCS to be used for L2 buffer size calculation. These will be captured in the spec as a table of RLC RTT per SCS (not the method to derive the value)
This paper intends to discuss and decide the RTT values for each SCS to finalize the specification.
2 Discussion

In LTE Rel-8, 75 ms RTT value is used, which is based on [R2-082406]. The rationale to select 75 ms is assuming e.g. that maximum 5 HARQ retransmissions are supported and that the RLC polls for every 32 TTI, the maximum RLC RTT can be estimated to be 5*8 ms + 32 ms = 72 ms.

Although in LTE, RTT is decided based on HARQ RTT and RLC polls, which one can argue to also related to HARQ RTT, RTT itself is just a duration that scheduler can continuously schedule the UE without receiving RLC ACK of the lower edge of the transmission window, i.e. lower edge of SN. There is no strong need to be tightly related to HARQ RTT. Unlike LTE, the HARQ number and HARQ RTT is fixed, NR HARQ is much more flexible, therefore, we propose not to tie RTT tightly with HARQ RTT.
For NR, in [R2-1711618], RTT of 50 ms was proposed, based on the NR U-Plane discussion of PDCP SN size. 50 ms RTT is a reasonable for 15 kHz SCS. So we propose to start with this number.

It is expected higher SCS will be used for mmW frequency with higher bit rate due to wider bandwidth. With shorter symbol length, RTT is expected to be shorter. Since the layer 2 buffer is the product of bit rate and delay, therefore, a shorter RTT with increased bit rate can reduce the L2 buffer size requirement.
3 Conclusions

Proposal 1: R2 directly discuss the RLC RTT for each SCS for L2 buffer calculation.
Proposal 2: R2 discuss and capture below table to 38.306.
	SCS
	RLC RTT

	15KHz
	50 ms

	30KHz
	50 ms

	60KHz
	35 ms

	120KHz
	35 ms


